DO NOW

sin? x + cos2 x = l
2
1 +tan? x= SeC Y

1+cot2x= CSC2X

-4 = gec2
Prove: = [tan x] = sec? x

d(sinx| _ Cosx(cosy)—sinx(-smx)

dx [Cosx_ | — Cos*x
cos?

x+sinzx

Cos 2x.
[

cos?x

(&)

Sec?® x

4. h(f)=elcsc t
hl=efcsct cot t) +esct (eF)
h't)=etcsct (-cot £ + 1)
h'(t)=elesc t( 1-cot )

tan x

5. /(%) =13
£ ‘(X) =C I-Z)«)(S«? X) —tanx (“2)
Cl-20)*
*F'()t) = Sec®x-2xsec®x + 2 tun v
U2xy

3.3 Product and Quotient Rules - Day 4

Derivatives of Trigonometric Functions

Recall:

%[sinx]:Cos X j—x[cosx]:'Sin X
L) - sec?x
(%[cotx]:—csc,z)(,

(%[secx]Z Sec X tan x

cscx]=—(SC X CO{ %

S

Examples: Find the derivatives.
1. y=2sinx-tan x
Y's 2cosx —Sec® x

2. g(f)y=2sect+3tant
g'({:)-T 2sect tont + 3 sec’t
9 (®)=sect (2 tant +3sec {:>

3. y=xtanx

\/'= Xsec*x + tan Y

Higher Order Derivatives:

s() =2 posibon fun ction
s = v (&)= Velocity Lanction

s0=V'@E) =a(t) > acceleration funchion

*rake a; which e veloa
B C a.na'm% wiHA Hspec,\— .h-}“m
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**Taking derivatives of derivatives of functions.



Notation:
First derivative: § (x) ‘ YI) ad_)% ac_l_ EF(")}

Second derivative:‘F ‘(x) y ; S_L;Z i [-F (x)]

Third Derivative: -P m(x)

Fourth derivative: .FC")(\‘) Y(")

dx9, d,,@

nth derivative: ('0( ) Q d ‘I d h G; C%

HOMEWORK
Pg 147, Yl - 5%

pg 147 - 149; 63, 65, 67 - 71 odd (part a only),

73 -79 odd, 83,91, 93, 97,
99, 101, 105 - 108

Ex:

Y=Xq-3x3f-2x.1—sinx
\/‘qu3—‘}x2+ Yy —cos X
>/”312x,2-'( Ex +4 +sin x

7'"224 XIS + cos X



